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1) 99} o] 2 x 2 QoA A 7zt zte] AT/ (Ha)d #AF7Hd (Ho)S Al§)H e},
Ha(Zg &9 &3): Z8E v3lgs= < wA Aotk (Xv# Xwv)
Hao(ge] £31): 349 ol ol mheh %2459 Bagel #o)7t 92 Aoleh (Yux X
Hax(As a4 39):9d8=59 A 7Hd MV = X MNv= XFv= XFNY)
Ho(AF7Hd): Fedaid ) A5 d439+= 5 ¢S Aotk ( Mv- X anv- XFv- Xenv)
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grahedshe] 291 & CEEXEE]

\% NV M F
X 54 48 55 47
(X-X) 54-51=3 48-51=-3 55-51=4 47-51=-4
(X-X)? 9 9 16 16
n(X-x)? 10x9=90 10x9-90 10x16=160 10x16-160
Yn(X-X)?  90+90=180 (@atg@e A5F) 160+160=320 (4 9] %)
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wslds 43
Vv NV
vl o F matE A @w
M X=59 X=51 XM=55 A (XM} o A3 #(XF) e
-4=55 -4=47 -4=51(%A) AAH T (X=51)3} o}ld <)
A 2% ¥ 7 A ote] PEE
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F X =49 X=45 XF=47
+4=53 +4=49 +4=51(%4)

AAFF(X) =51



step 2. & Weto g fo xAHA FAS oY Ao 75 F L AAS WeEH

wslgds §3
Vv NV
_ _ o]T Wl fPo F aHE A3t
M X=55 X=47 XM=51(=4 %) FEHT(XM)I} v ZEHH 7S
-3=52 +3=50 AANATF(X=51)3 zZolad A,
3 a9 & ZF Al otel AR
o 2o WA ow A or ¥
F X=53 X=49 XF=51(=43%})
-3=50 +3=52
Xv-54 Y48  AAFIH(X) =51
ZAo] & 3= 51 +3= 51
<utslgd 3t x 4>
MV MNV FV FNV
Xz4 52 50 50 52
(XZH-X) 52-51=1 50-51=- 50-51=-1 52-51=1
(XZ24-X)* 1 1 1 1
n(XZ24-X)> 5x1=5 5x1=5 5x1=5 5x1=5
Yn(xz4-Xx)° = 5+5+5+5=20 (L FBxA o A5 )
<Aw i A5ge i AR>
MV (X~ X)? MNV (X~ X)? FV (X~ X)? FNV (X~ X)?
57 4 49 4 47 4 43 4
58 1 52 1 50 1 46 1
58 1 52 1 50 1 46 1
61 4 53 4 51 4 47 4
61 4 49 4 47 4 43 4
X=59 M (X-X)*=14  X=51 },(X-X)?=14  X=49 Y ,(X-X)’-14 X=45 Y (X-X)*
=14
3 Y I(X-X)%= 14+14+14+14=56 (& Ul A5 F)
<EAEX(ANOVA) >
b (source)  AET(SS) AFE(df) HITASMS) FLAA Fa-zkzk
w319 37 (C) 180 C-1=1 180/1=180 449(44=116)  180/3.5-51.43
Q) 320 R-1=1 320/1=320 449(A4=116)  320/3.5-91.43
CxG 20 (C-DR-D=1  20/1=20 44945 =116)  20/3.5=5.71
At 56 Y (ZAAES-1)=16 56/16=3.5
= N-RC=20-(2x2)=16
A A A 576 N-1=19
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